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Directions (Q. Nos. 16-30) For each question, four 19. (a) twist
possible answer choices have been 8iven, out of which only (c) twisting

one is correct. Select the correct answer and indicate it at

20. (a) then 6 10 e
the appropriate place in the OMR Answer Sheet. o ..

c) so
In a village, a shopkeeper used to sell his fruits at high ‘ )
prices, which brought him a lot of profit. But, he wasn’t Eglimt
happy with it because he wanted to earn more. So, "Lﬂm g
whenever a customer came to buy fruits from him, he zg: a) who
cleverly reduced the weight a little. Now, he was earning o

) how
more money. One day his friend came to buy some fruits A 23. % ;
from him and he did the same to his friend. When his friend

got suspicious, the shopkeeper told him that it was his
illusion. LR S &

16. The shopkeeper manipulated his et
because he was ......... ; ‘
(a) greedy
(c) angry

17. How did the shopkeeper e
(a) By selling wood
(c) By selling fruits

18. The shopkeeper’s friend
(a) merciful
(c) treacherous

Directions (Q. Nos. 19-2

questions by choosing t
complete the paragraph b:
Gulliver found that the
than thin threads and
needles. He made some &
cables together. He s
two-three metal bars (
ends of the cables and v
getting into the sea,

goggles to protect his
the sea water (22) s
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91. He realised that he could not buy the jacket this (a) Alan said to me that after hearing the laundry
month because he had very......... money left after man’s sad story I quietly got up and walked back
meeting all expenses. home.
(a) few (b) little (b) Alan said that after hearing the laundry man’s sad
(c) lesser (d) some story, he quietly got up and walked back home.
8y £ (i (c) Alan was saying to me that after hearing the
28. T.he A.mazon river in South America is the ......... laundry man’s sad story, he quietly got up and
river in the world. , walked back home.
(a) longer (b) longest (d) Alan said that after hearing the laundry man’s sad
(c) along (d) most longest story, I quietly got up and walked back home.
29. SEIECt_the alternative that best expresses the 30. Give one word substitute for the following
following sentence in indirect speech. expression
Alan sald,' “After hearing the sad story of the laundry ‘One who can be easily led to believe in something’.
man, I quietly got up and walked back home”. (a) Indelible  (b) Incredible  (c) Gullible  (d) Invincible
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